Review Problems / . oY

1. Exponent Laws text page 267 #2 — 5,7 -9 (find equation for linear/exponential tables in
#9)

2. Solving Exponential Equations. Solve the following:

a) 323 _ 9 b) 9342 _ L
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3. Exponential Growth & Decay Problems. text page 269 - 'l"fj 16, 17abd and page 270 #5a
4. Transformations of Exponential Functions

a) Find the x/y-intercepts for the function f(x) =2 (3)*- 18

-yl
I
b) Graph the exponential function g(x) = —[:] -2 using mapping notation.
c) Text page 253 #14

S. Compound Interest.

a) Find the final value of a $6500 G.I.C. invested for 6 years at 3.4% interest compounded
quarterly.

b) Suppose that Jack has a savings account with interest compounded monthly. His starting
balance is $3100. After one year the balance is $3165.73. What is the annual interest
rate for the account?

Answers
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